2014/07/27 =T A5
[7~ 125 =1 Dtk Q--ABE- 173

010203040506070809

B EFAL QQRQRQAQQQQQ &t MALL HIE
401 HUE FEAT * 1 22

402 PHEF HEE * k% * 7 14 P
403 Jb St k ok ok ok ok % 9 1 p
404 M = %k k K k% 7 14 P
405 |Llgr P& x % % %k ok k x x 8 10 P
406 I QAT xx kx4 20

407 /B TERR % k % k % % %k x %k O 1 P
408 JEH FEHM ok k k k %k %k k kO 1 P
409 KK #E X k %k %k %k %k k %k kO 1 P
410 I FE— * % % %k %k kx x x 8 10 P
412 W K * 1 22

413 KA A k k k k k % % k kO 1 p
414 B QO IER % % %k % % % % %k %k O 1 p
415 BH 25l % %k % % % % % x %k O 1 P
416 VIR ZiEE x % % % % %k k x x O 1 P
417 JESL F— *x k% 3 921

418 By 3E % % % % %k % x % § 10 P
419 = #Hris % %k % % % % % x %k O 1 P
420 H TER Mk * k k k x xx % 8§ 10 P
421 A B x %k ok ok ok x 7 14 P
422  YRlgr M * EEEE 14 P
423 BAR HBME x k k %k k x 7 14 P
424 KH & B * 5 19
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H&5 ® T4 QQQQQQQQQ AFEt NEfr HE

402 FHEF HfE * k * 5 13
403 db B x %% xk%xx% 8 ] P
404 M 7 * k% Xk ok k] 4 P
405 il P x x %k x % x *x 7 4 P
407 /INEE ERK x k k kkk 7 4 P
408 JEIE FEM EEEEEE 8 1 P
409 ARFF #RE * x x 3 16
410 A1 A — * % % % 4 15
413 KA K BRI k ko k% 5 13
414 B0 BN ok kK KoK X 8 1 p
415 B 25k k ok ok % 6 12 P
416 1L FZ * % %k k 74 P
418 B E 3 16
419 & #rin 7 4 P
420 H TR Feik X % k K % % 7 4 P
421 AR HH x % 2 18
422 iR M k k k ok ok ok kT 4 p
423 BA HME * %k k ok ok % % 7 4 p
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R ®F A4 QQRQQQQQQQ A&l AN HIE

403 Jb Stk ¥ % % % %x % § 3 P
404 FE 77 * x % 3 8
405 (LM P& % % %k % % % x % 8 1 p
407 /NEE TE AR * * 2 9
408  JEESH HEA * * ok k% 5 6 P
414 QO IERE x kK % 7 9 p
415 HBH 25l 2 9
416 LR ZE * 5 6 P
419 = #Hris % % % % % % 6 i P
420 H THD ek * x 2 9
422 ey H 2 9
423 B HME Xk ok ok k% 6 3 P
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No. ®FIK 4 01 02 03 04 05 06 07 08 09 JENT |

2 H Quick Step

403 b Ot 2 4 7 7 2 1 1 7 3 2.0
405 (Ligy B 4 5 5 1 4 3 2 3 1 3.0
408 BRI fHEHL 6 6 4 6 5 4 4 4 7 6.0
414  BQO IERE 3 1 6 2 1 5 3 1 4 1.0
416 IR FPE 5 3 3 5 7 7 7 2 2 5.0
419 | & R 7 2 2 3 3 2 6 5 5 4.0
423 BA M 1 7 1 4 6 6 5 6 6 7.0
A AR R

No % T K4 Q B RiE

403 b Ot 2 2.0 2.0

405 (Ll FE 3 3.0 3.0

408 BRI fHEHL 6 6.0 6.0

414  BQO IERE 1 1.0 1.0

416 I FE 5 5.0 5.0

419 & R 4 4.0 4.0

423 BA  HME 7 7.0 7.0
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HEE BEES & =P K4 N—|Th— 7 R FTEE RE Q
401 13003815 @ D = B [EfT i 25T RS THIE  FE1TE 1
402 13003780 @ D = FHEF i FHEF T H R 2T 5
403 | 13003818 D db Bk ) OLH RS A F2fr 2.0
404 13003371 D @ Z= FEH OAH RS AR HEREE 3
405 | 13003916 D LR P& (g B - RS [ B3N 3.0
406 | 13003217 D @I HIFT I T H THIR 1T 4
407 13001882 |« D | /N JERK MEE EHE FR THIR O MERPE 2
408 13003723 |« D | JEH FEWH JER] BRI H T F 6L 6.0
409 = 13003017 D KK mE S E=F RS IR o i 3
410 13002402 D | KM FE— N RS 7 R 2T 4
411 13002169 @D  HJII %5 i et RS etz FR. U R 0
412 13003739 D | EH bk i = RS AR 1y 1
413 13002582 @ D | B AF W T RS —HE  F2TE 5
414 13001628 D = #QO IERE % TR H & LR F1Ar 1.0
415 13003748 = D = BH 2L xR AR RS THIR O MERPE 2
416 = 13003214 D IR 3= TR AET RS N I ATIA 5.0
417 13003884 D @ B3 FH— A& Bir RS HEATE 1T 3
418 13001920 @ D @ £ FRIL ED1- H R hie I
419 | 13003932 E & #HrA eI Ry R Mgtz BRI HANE 4.0
420 13002698 = D H T M HT& @ H BB YERREE 2
421 | 13003885 D A& B il EORF H AR 2P 2
422 | 13003395 D R M P P H AR MEREE 2
423 13003871 @ D BmA HYE hnggE FE+ H i o] U2 FTAL 7.0
424 13002693 D | KH #ih KH NV RS WprE 1T b
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